Al £ 0 & AHES & Al

A A=
¥ HEGHD | E2 FHEE RM(M3I=X/F)
el F=HEE e (Cte M)
S - ZH . O9(52) - ARAY - BAS Ofl b K" FimE=l
ral=; 19,549,005 15,159,850 4,389,155
= 11,322,756 10,783,464 539,202
= 3,241,781 853,941 2,387,840
Al 4,984,468 3,522,445 1,462,023
EGHL &) £E2 FHEL L (ASSEX/FH) 19,309,934 15,108,934 4,201,000
= 11,269,424 10,783,464 485,960
S 3,241,781 853,941 2,387,840
Al 4,798,729 3,471,529 1,327,200
FHEE Hd 6,403, 160 3,068,560 3,334,600
= 67,960 15,200 52,760
== 2,263,000 4,560 2,258,440
Al 4,072,200 3,048,800 1,023,400
g A 635,760 735,760 100,000
= 48,960 0 48,960
Al 586,800 735,760 A 148,960
308 KXIEHMSOIH 180,000 180,000 0
= 48,960 0 48,960
Al 131,040 180,000 A\48,960
183 SV 2SO0 &= AET AL 180,000 180,000 0
020243 & BITAEHEAHKEAI)
2% 82,080,000 82,080 180,000 N97,920
O20243E BIZAEHZAH=DEEE)
97,920,000 & x 14! 97,920 0 97,920
= 48,960 0 48,960
Al 48,960 0 48,960
401 AIEHIZ SO 450,000 430,000 20,000
01 A<l 446,79% 426,79% 20,000
ORIY HUHHI At[2023F BIZEH] R4=Al
= A AFHI] 2E 417,120,000 417,120 397,120 20,000
402 SIZERHE0| M 0 120,000 A 120,000
01 QIEX 2 AL S (XHMI TR ) 0 120,000 120,000
Oeld EAHRE ALY 33 03 0 120,000 120,000
By FHl XA (EHI) 171,000 0 171,000
S 51,300 0 51,300
Al 119,700 0 119,700
402 BIZERH201 ™ 171,000 0 171,000
S 51,300 0 51,300
Al 119,700 0 119,700
02 QI H=2AIS 2R (0IETHR) 171,000 0 171,000
Osl™ HEAXE A 3,000,000 575 171,000 0 171,000
(= 51,300 0 51,300
Al 119,700 0 119,700
SSFEUX] N AL (&8I) 2,206,000 0 2,206,000




2AM:
X ZH -
S=-

chel:

2 TN

L]

& ZH(MEI=XI/F)

SN - BE - S2A(3) - NIRAY - BES 04l st N o HIRE2
< 2,206,000 0 2,206,000
402 Q124X+ 01 2,206,000 0 2,206,000
= 2,206,000 0 2,206,000
02 QIZERHE AR 2 X (0IR TH) 2,206,000 0 2,206,000
OSHE =% BEFU(HSIX) AIEIHEA
o 40,000,00021 %141 40,000 0 40,000
= 40,000 0 40,000
Ok® ZEZe ALNLA (BSIR)
50,000,000 +14! 50,000 50,000
< 50,000 50,000
OSHG =% BSTU(HE2X) AEIHEA
o 40,000,00021 14! 40,000 40,000
= 40,000 40,000
OS2E =5 BSTU(BHYUM) AILHA
At 50,000, 00084 14! 50,000 50,000
< 50,000 50,000
OZ2S -5 ZEFHU(SYUY) AlEIA
At 20,000, 00084 14! 20,000 20,000
< 20,000 20,000
OZ2S -5 ZEF(0IZY}) AlEIA
Ar 30,000, 0002 14! 30,000 30,000
< 30,000 30,000
OZ2S =& ZEFU(AUSH|) AL
Ar 30,000, 0002414 30,000 30,000
= 30,000 30,000
OZYUS -5 ZEFH(B22I|) AL
Ar 25,000, 0002 14! 25,000 25,000
< 25,000 25,000
OZBS =% BEFU(LAIN) AlLIHEA
o 50,000, 00024141 50,000 50,000
= 50,000 50,000
OMNUS =% BSTU(GHENSH) ALHA
A 30,000, 00024141 30,000 30,000
= 30,000 30,000
Ob® DE=E ASNLAY(LASE UE
OHed ) 16,000, 0002 % 14! 16,000 16,000
= 16,000 16,000
O® BSFY AL AR (RXIH)
20,000, 00024141 20,000 20,000
= 20,000 20,000
O2E =5 ZESFY(SYOHIE) ALK
At 50,000, 00084141 50,000 50,000
< 50,000 50,000
O2E =& ZSFU(24Q!) AL
50,000,000 +14! 50,000 50,000
= 50,000 50,000




SN =D
o YNl M| B2 FHEY TL(ABI=T/E)
29 FHES hd (crel: &)
S - ZH - BR(S) - KIFA - B ofl &bt ol o HIRE2
OL= ze=e NN (ZE 20)
30,000, 00021141 20,000 30,000
= 30,000 30,000
O3S &3 BEFH(FQ!) ALHLAI
25,000,0002 %141 25,000 25,000
= 25,000 25,000
O2E L& TSFU(FH) NSRS
30,000, 00021141 30,000 30,000
< 30,000 30,000
OFSE L& TSFEY(NHFDO0LZ) AL
HA 50,000, 00024 %14} 50,000 50,000
< 50,000 50,000
0SS 5 TESFU(FUEXY) AL
HA 20,000, 0004141 20,000 20,000
= 20,000 20,000
OUSE L& BSTEY(NHHE) AaHH
A 20,000, 00084141 20,000 20,000
= 20,000 20,000
OUSE L& BSTY(NHIS) AaH
At 50,000, 00024 *14} 50,000 50,000
< 50,000 50,000
O=% ZEFE ALY (NEDEEL
) 50,000, 00084141 50,000 50,000
< 50,000 50,000
OOINE =5 DEFE(OIMBN 17 - 2X1)
A& A 20,000, 00084141 20,000 20,000
< 20,000 20,000
OINE =3 ZEFS(FLIT) ALMLA
o 50,000, 00024 %14} 50,000 50,000
< 50,000 50,000
OOINE =3 DEFE(HHALOIE) A
EpPIINE 50,000, 00021141 50,000 50,000
< 50,000 50,000
OOINE &3 ZEFH(SSEIR0ME) A
SO M AR 50,000, 0002 %14} 50,000 50,000
= 50,000 50,000
OGNS & SSFE(01HL508H4) A
SO M AR 30,000, 00024 %14} 20,000 30,000
= 30,000 30,000
O24E L3 TEFY(24D0124) Al
& A 30,000, 00024 %14} 30,000 30,000
= 30,000 30,000
OS4S 3 TSFY(AYNIWA) AL
& A 50,000, 00024 %14} 50,000 50,000
= 50,000 50,000
O24E =5 TESFHU(SH0ITIE) ALY
HAre] 50,000, 00024 %14} 50,000 50,000




A AED
Hu: WHGID AD| ES FHEY TL(ASISX/FL)
SEHE S EEIPIT (SHo: &)
SA - BB CRI(SI) - NISAY - BaS 0l bt /- HlRE2
< 50,000 0 50,000
OB4S 3 JSFe (UL} AL}
Atg! 20,000,000 14} 20,000 0 20,000
= 20,000 0 20,000
O24E =5 BSTU(LHMA) AN
Arg! 20,000,00021 14} 20,000 0 20,000
< 20,000 0 20,000
OB4E &5 ISFe(2408) AL}
At 50,000,00021 14} 50,000 0 50,000
= 50,000 0 50,000
OUIBE =5 BSFU(HH2R) ALINEAL
= 30,000,000 14} 30,000 0 30,000
= 30,000 0 30,000
OUIBE =5 BSFEU(HY3X) ALINEA
= 30,000,00024 14} 30,000 0 30,000
= 30,000 0 30,000
OL$ BSFE ALHSAL (L3R
10,000,002 14! 0,000 0 0,000
= 10,000 0 10,000
OSHE =5 BESFEU(RI2RO0IE) AL
Jhes Abes 40,000,00024 14} 40,000 0 40,000
= 40,000 0 40,000
OSHE =5 BESFU(SYGI0I=) AlLN
SAS 55,000,0002 14} 55,000 0 55,000
= 55,000 0 55,000
OSHES =5 BSFU(0E) ALY
30,000,002/ %141 30,000 0 30,000
= 30,000 0 30,000
OIS 5 BEFE(AAQADR) ALHA
Arg! 30,000,0002 14} 30,000 0 30,000
= 30,000 0 30,000
OIS o3 BEFE(HB0E) AILHA
At 30,000,0002 14} 30,000 0 30,000
= 30,000 0 30,000
OIS o3 BSFE(HB0M) BN
At 20,000,00024 14} 20,000 0 20,000
= 20,000 0 20,000
OMEE =3 BSFU(LYIT) ALINEA
o 70,000,00024 14} 70,000 0 70,000
< 70,000 0 70,000
ONES =5 BSFU(LY2R) ALINEA
o 70,000,00024 14} 70,000 0 70,000
= 70,000 0 70,000
OMEE =5 BEFU(LY2R) SZIHEA
o 30,000,00021 14} 30,000 0 30,000
< 30,000 0 30,000




2N

I Ol &=J

ST
An webD a0 22 Foje FH(ABI= /=S
Ciell =N A (crel: =)
SN EE - BRI(E) - NRA - BAS of e EE HImE2
OR=Z= L& Zexe(2obx) NEMAA
[ 50,000,000 x 14! 50,000 50,000
< 50,000 50,000
OMEE L= DExS(A525) A&
A 50,000, 0002 %141 50,000 50,000
= 50,000 50,000
OMZE s DERU(2p1) ALIHLA
30,000,000 14! 30,000 30,000
& 30,000 30,000
OMZE L& DExe(2010/2) Al&NA
A 30,000,000 & * 1A 30,000 30,000
= 30,000 30,000
OMEZE L& Dexu(=235) A&lA
A 100,000,000 * 14! 100,000 100,000
& 100,000 100,000
ONEE L2 ZEXS(SOIEIR) AILIHA
s 50,000, 00021141 50,000 50,000
= 50,000 50,000
ONEE L2 ZEFS(NSI0ITIE) F012
SOIZAIA AL
35,000,000 & * 1A 35,000 35,000
& 35,000 35,000
ONEE ZEZS(2HTY) Ul 012312 &
ZOIE A& A
40,000, 00021141 40,000 40,000
& 40,000 40,000
ONEE DEZS(SHHE) Wuss AL
AL 50,000, 00021 14! 50,000 50,000
= 50,000 50,000
OOHE L2 ZEZe(L2) AILIHHA
30,000, 0002 %14} 30,000 20,000
L= 30,000 30,000
OFME Le ZEFS(0IEEIR) AILINA
A 100,000, 000& =14 100,000 0 100,000
< 100,000 0 100,000
HAS HOKOl ZEOREAIE 3,000 30,400 7,600
= 19,000 15,200 3,800
& 5,700 4,560 1,140
Al 13,300 10,640 2,660
20 D=0l 3,000 30,400 7,600
= 19,000 15,200 3,800
= 5,700 4 560 1,140
Al 13,300 10,640 2,660
03 QIZHRIEFAIHI 38,000 30,400 7,600
ORAS HONOI T AL
25 38,000,0002 3,000 30,400 7,600
= 19,000 15,200 3,800




A A=
A G )| £E2 FHEL L (ASEX/FE)
el F=HEE e (Cte M)
2A - B -22A(3) - MRAY - BES Oll &k N3N Hwsz
S 5,700 4,560 1,140
Al 13,300 10,640 2,660
o8 39 U8 X 1,050,000 0 1,050,000
406 J1EHGHZ01 S 1,050,000 0 1,050,000
01 JIELAH=0I & 1,050,000 0 1,050,000
O08 Y AUi=& XIZAZ
1,050,000,000& 14! 1,050,000 0 1,050,000
MNASE FHAE X 12,906,774 12,040,374 866,400
= 11,201,464 10,768,264 433,200
[ 978,781 849,381 129,400
Al 726,529 422,729 303,800
HUEEAN Al EEXIA 828,000 0 828,000
= 414,000 0 414,000
S 124,200 0 124,200
Al 289,800 0 289,800
301 Et2 &= 828,000 0 828,000
= 414,000 0 414,000
S 124,200 0 124,200
Al 289,800 0 289,800
01 Al EE A GIZ (2 DEXTHR) 828,000 0 828,000
OHEIZ N SAl SEXY 2XtALY
200,000 x345F « 12 828,000 0 828,000
= 414,000 0 414,000
S 124,200 0 124,200
Al 289,800 0 289,800
OIAHH] Xl &AM 4,000 1,600 2,400
= 2,000 800 1,200
= 600 800 A200
Al 1,400 0 1,400
301 Et2E = 4,000 1,600 2,400
= 2,000 800 1,200
= 600 800 2200
Al 1,400 0 1,400
01 ARSI EE A6 (2 REXTHR) 4,000 1,600 2,400
OOIAHHI XIZ (HIZ&AHM IR
& 4,000,000 4,000 1,600 2,400
= 2,000 800 1,200
== 600 800 2200
Al 1,400 0 1,400
HNEESSEHEE 252 XIFAMY 136,000 100,000 36,000
= 68,000 50,000 18,000
== 20,400 15,000 5,400
Al 47,600 35,000 12,600
301 LI 136,000 100,000 36,000




SN A=Y
A G )| £E2 FHEL L (ASEX/FE)
=Rl NASE F=HeE X2 (Cte M)
S - . O(3) - HSAY - BAS O &b o o =2
= 68,000 50,000 18,000
= 20,400 15,000 5,400
Al 47,600 35,000 12,600
01 MBI EEAG6Z2(IDEZTHA) 136,000 100,000 36,000
OXNEZEIPEEE BE2 X [RIIHE
] 23 136,000,000& 136,000 100,000 36,000
= 68,000 50,000 18,000
= 20,400 15,000 5,400
Al 47,600 35,000 12,600
AQIBHE AZH ASH([ELXSINL/XSLZAI) 151,544 5,760 145,784
= 53,332 0 53,332
Al 98,212 5,760 92,452
oStz Sagda 24 151,544 5,760 145,784
= 53,332 0 53,332
Al 98,212 5,760 92,452
AL S2ZA 106,664 0 106,664
= 53,332 0 53,332
Al 53,332 0 53,332
402 RIZHXH=0IA 106,664 0 106,664
= 53,332 0 53,332
Al 53,332 0 53,332
02 QIZEXHE A B X (01 &THE) 106,664 0 106,664
OSHAEE 22 XA
106,664,000& 14! 106,664 0 106,664
= 53,332 0 53,332
Al 53,332 0 53,332
KNGAZHHHEH 29 39,120 0 39,120
201 22 13,500 0 13,500
01 AFS-2t2ltl 13,500 0 13,500
Oget===H| 6,300 0 6,300
oEZ ot EE= MA[2023E =4l]
5,800,000& 14 5,800 0 5,800
oXAAFOIMAH 22EE 2
500,000 *14] 500 500
Oo2g=g 7,200 7,200
COIMEY 2t QIR 220239 =2
bl 150,000 x2H +35[+8& 7,200 7,200
202 (4t 1,120 1,120
01 =04 bl 1,120 1,120
OAEE MTA (LT, /EAHEE S)
20,0003 2 #4353+ 72 1,120 1,120
405 XHAHE SHI 24,500 24,500
01 ML EEFHSHI 24,500 24,500




2M: A5
o}

M AICE = AFYY FEH(FELNANL/NLALZAI)
telr Ol SaZ2 =4 (S &)
SN - B - SA(BH) - NIRAY - BAS 0 s ol o HIRE2
OA=E ASZH Fe[2023E =H| 7,008 &
& 24,500,000& % 14! 24,500 0 24,500
SBENS (LS ISHY/UBEE) 42,371 0 42,371
BE&XE 42,371 0 42,371
BEXE 42,371 0 42,371
802 Bt JIEL 42,371 0 42,371
02 Al - THIZXZEHEZ 42,371 0 42,371
Q20218 sUHE DtSZ 20 AL 42,371 0 42,371
o AHS &M 38,771,000& *14! 38,771 0 38,771
o0l X 3,600,000 14! 3,600 0 3,600




